This question paper contains 3 printed pages]
V—117—2017
FACULTY OF SCIENCE
B.Sc. (Third Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017

ZOOLOGY
Paper VI : *
(Genetics) o
(MCQ+Theory) L
(Saturday, 18-11-2017)  Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours : I I Mﬂximg.-.:m_Mﬂrks—--iﬂ
NB. — @ Al questinné ;11'; compulsory. SR j

(i) All questmns carry equal marks.

(i) Draw neat and labelled diagrams wherever necessary.

(MCQs)
L Select the correct answer from the given multiple choices : 10
(i) . is called as father of genetics.
(@) Aristotle (6)  Mendel
>~ (¢) Empendocles (@)  Morgan
(u] In 1900, Mendel's principles of genetics was rediscovered by ...........
“\“\ r (a)'_ ‘Corren, iy - e () Tshermark
n Q ”('} Dev;nea ! R \ T (d) All of these

{m)‘" The fantu;' h}rputhesm was prnpused by ..
(@) - Bateson Mﬂnd Punnet
(6)  Swammerdam

. .(c}_ Darwin

" d)  George H. Shull

S e A P.T.0.
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= = Wnte short nates on :
'.(a]' Test crﬂss '
“(m Rh factor

WT (2) v-r-n 7—~2ﬂ17
(fv)  The ABO system of blood group was dlamvere& hj' ......... i, I
{a) A.S. Wiener (b)  Fisher
(c)  Berntstein (d) La.udstemer
(v) The complete linkage is found in the Drosophila Bt :
(@) Male (b) . Female - - :
(¢)  Both (a) and (b) : "'td] ~ None of tilesel

(i)  The.Genic balance thear} was fcrmulated by .. :
(a) M.C. Clug _,.:::-'__;.-*':;,:’ i _(b] Wilson and St-evens

(¢} C.B. Bridges *}-x..'--_"_.‘_; -’_e'[d]- RA. Emersnn
(vii) The Y linked genes are a]sn called as . S g
(a) Cadugenf:s ‘ \[b} - Pul}rgenea

(e) Oncugenes e -‘..'{d}'f Holandric genes
(viii) In sickle cell anaemm the ammnamd Glutaml: -acid in B-~chain of Hb
is replaced by . Fol 5 LD
; ! 7 {b} I,Eucine. ‘

Fx (d) . Valine

(a) Alamne
(e).. Methmn.me

(EI} A person wlth alblmsm :s called L ——
et Y. Cntm g \} h '5'3\5{!1] Albmas

'ﬂ'\

R nH - Ae } Idmta ._--ﬂ'-'i. ; ,., [r.i} ~ Carrier
& {J:) The semi cansenratlve methud af' DNA replication was experimentally

; \- prﬂved b}r - :ﬂ_;_; ..I\. m\t:: ;_’_"
51‘?:'1’:" % (@) Watson and Cricky’ ' () Guilfoyl

e AT i . .
__"\'_""‘.;-':"i*“_ﬁ" (e } Meselsnn and Stahl (d) Rosenberg and Cavalieri
ff“?.-’f TSP SN @3 (Theory)
2,308 Desmbe tl:ua Mem:'lel s Manuhj’bnd cross with a suitable example. 10
. \.'-;..“.,.1-_:.‘_._ s .;~ ‘ ."‘:,__', .{f. Or

A =
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3. Discuss Mechanism and factors affecting crossing over. : 10
Or 3 : RO

Write short notes on : G ¥
(@  Erythroblastosis foetalis it o S

(6)  Alkaptonuria, A i8S G R

4. What are mutations ? Describe the numerical alt&matiuiqs in c.hr{;mn_éml:;:ms.'c

Write short notes on : - - | e RIS

) Dh HPHMﬁm;L Pt I_ .. I_ _ o X : -\ I.-. j
© Hemeia
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This question paper contains 3 printed pagen]

W—133—2018
FACULTY OF SCIENCE
B.Se. (Third Semester) EXAMINATION
DCTDBERINDVEMBER, 2018

(CBCS/CGPA)
ZOOLOGY
Paper-VI
(Genetics)
(MCQ+Theory)
(Thursday, 25-10-2018) Time : 2.00 p.m. to 4.00 p.m.
Time—Two Hours s Maximum Marks—40

NB. —

() Attempt Al questmns
(i) Al questmnn ‘carry equal marks.

(i) Draw neat’ ‘and labelled diagrams wherever necessary.

MCQ 10

1. Select correct answer from'the given multiple choices :

)

(1)

(i

The arganmm carrymg' non-identical genes for particular character is
called as . O LY S

{a) Heternz}rguu:g ()  Hybrid

(@ Homozygous (d)  Both (&) and ()

The character which disappears in F1 generation is called as ............... .
[.E} Dominant chnracter (6)  Recessive character

(d Degeneratwe character (d)  Aggressive character

Epistasis means .......c............ :
(2) Stopping (6)  Inhibiting
(¢) Both (&) and (&) (@) Ending

PTO.
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The theory of linkage was plru:n-a:d BY oo b Gl
(a4} T.H. Morgan " (b Bateson

(o0  De Vries ()  Malphigi

The O blood EToup person is called as ...

(@) Universa) Reapient (&) Universal Donor

(¢ Commen Donor {d)  Normal Donor

The colourblindness in man shows ...

(8} Cris cross inheritance ' (b) Zig-zag inheritance

(6 Both (a) and (&) (d)  Straight inheritance

The chromosomal theory of sex determinntion was propased by ......ovene
(e M.C. Clug (H  Morgan

(@ Bridges (dd  John Cotto

(v1i) The sudden, abrupt and inheritable changes in genes and chromosomes

(Lr)

(x)

(@) Modifications ()  Mutations

(6 Adaptations {dd Recombinations
............................ is called as Mongolism ‘or’ Mongoloeid idiocy.
(&) Klinefelter's syndrome {4  Down's syndrome
(& Tummer's syndrome (ah  Albinism

The micromolecular model of DNA was proposed by ..o .

{(s) Watson and Crick {5 Mendel

(8 Chargall (i Punnet

DCEMAFIETAE IACFADRFIEZIDI 1030
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Theory
2. What is interaction of genes ? Explain complementary factors with a suitable
exmaple. 10
Or
Write short notes on :
(&) Incomplete dominance
(b) Klinefelter's syndrome
3. What is linkage ? Explain complete linkage in. ma.le Druauph:la 10
Or

Write short notes on :
(&) Inheritance of ABO bleod: g‘:t}up
(B) Genetic codes.

4. What is sex linked mhentanoe ? Explain wt:h referenl:e to colourblindness
in man. 7 S : 10

Or
Write short notes on : STy
(2) ~ Holandric genes <
(b)  Turner’s E]mdmme o

W—133—2018 e
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This question paper contains 3 printed pages]
B—156—2019
FACULTY OF SCIENCE
B.Sc. (Third Semester) EXAMINATION
MARCH/APRIL 2019

(CBCS/CGPA Pattern)

ZOOLOGY
Paper VI
(Genetics)
(MCQ & Theory)
(Thursday, 4-4-2019) | % Time: 2,00 p.m. to 4.00 p.m.
Time—2 Hours S RS Maximum Marks—40

NB. — @) All questmnﬁ Ere cumpulsur_v
(i£) All: queatmns carry equal marks.

(122) Draw neat and labe]led dmgrams wherever necessary.

\ 4 }o- MCQS 3
: Seleci: the carrect answer ﬁ'um the gwen multaple choices : 10
@) - - “Mendel the father of Genﬂtms was hnm in a peasant family in Austria
N 1 O ARG I
_ “ ) 1622" _\ FECTVRE @) 1722
SRR -(c)-»;_ 1822 NS @) 1022
. | (u:l ".“\’The ratm of 11'1h11:n’cc|r_r.er factur in Fy generation is :
R ; : () 9.7 -‘.fi‘- ®) 9:3:4
IRt T 3 o d 13:3
: {uJ The parsons uf AB blood group contain :
“ (a)ﬁ ) ,A.ni:lgen A (b) Antigen B
. .: ; ()) Ant:lgen A and B (d) No antigens
St P.T.0.

.a'-'.. A
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( 2) B—I1n6—2019

The linkage in which the chromosomas do not break and the linked
genes inherited together for many generations, is called ag -

(@}  Complete linkage (6)  Incomplete linkage
(c) Crossing-over (d)  None of these
The female Drosophila is :

(@) Heterogametic i _{bj Homogametic

©  Polygametic (d) Metagametic

Certain genes whir.-h are present in allosomes control the somatic
characters, such genes are called :

(a) Dummant genes '~ (b))  Recessive genes

(c) Sex-nhnked genes ; S {d.’} Letha] genes

The transmlssmn n‘f charactarﬁ cnntrnllmi bjf plasmagenes is called :
(@)~ C}—t-l:rplasmxc m]:entanm (ﬁ] Sax—lmked inheritance

( :}. trn:ght mhﬂntance . : x.{d]“ Criss-cross inheritance

{um.} A genemdmease caused by an addltmnal K—chmmnsome in human male

¥ el ok .... ST

-is called < ANy : :
{t':;}., Pat&x;s s;ndrnme REE j (¢) Down's syndrome
' r{ ] ; Tumer’s syndrumﬂ it (d) Klinefelter's syndrome
Eh;anylpmwn 1dmts alsu ‘known as :
e {a}\\' Phenylketonuna (b)  Alkaptonuria
5 -f{;:'} - Albinism @ Sickle cell anacmia
\\ : Who ﬁrst molamd nucleic acid from the nuclei of pus cells ?
:'- ‘, 'jﬁ}"' Wgt,sun (b)  Miescher
Pl '(é:i";, ‘Crick (@) Morgan

18E37054141FE41703BCE 1D201CCHRCD
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WT ( 3 )
Theory
9 Define Genetics and explain Mendel’s law of inheritance. i0
Or

Write short notes on :

(@)  Duplicate genes

(b) Phenylketonuria.

10

3.  Define multiple genes and explain skin pigmentation in man.
55 :

Write short notes on :

(@)  Factors affecting crossing over

(&)  Turner’s syndrome. - kY

What is Mutation ? Describe structural alternation in chromosome. 10
Or

Write short notes on :

(3] '.Hﬁemnphﬂia 5 ) :

@ - Structure of DNA.

B—156—-2019 . = :
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Y—156—2019
FACULTY OF SCIENCE
B.Sc. (Third Semester) (Backlog) EXAMINATION
OCTOBER/NOVEMBER, 2019

ZOOLOGY
Paper VI
(Genetics)
(MCQ & Theory)
(Thursday, 21-11-2019) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
. N.B. .— () All questions are compulsory.

(ti)  All questions carry equal marks.

(iit) Draw neat and labelled diagrams wherever necessary.

MCQ
1. Select the correct answer from the given multiple choices : 10
() The crossing of two organisms differing in one character is called :

(@)  Dihybrid cross
(b)  Monohybrid cross
(¢)  Interaction of genes
(d) Sex-linked inheritance.
(i) Who reported a case of duplicate gene in the common weed, shepherd
purse Bursa bursa pastoris ?

(@)  George H.Shull (b)  Gregor J. Mendel

(c) . Bateson and Punnet (d) Gold Schmidt.
(iit)  Erythroblastosis foetalis disease is also known as :

(@) Bleeders disease (b)  Hypertrichosis

(e) Haemolytic disease (d) Skin disease

P.T.O.
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(2 ) Y —156—2019

The interchange of chromosomal segments between non-sister chromatids

are called..civanineniisies
(@)  Sex linked inheritance (b)  HBreakuge
(c) Linkage {d) ('rossing over

The male Drosophila 1s :

(@)  Heterogametic {b)  Homogametic

(e) Metagametic (d) Polygametic

The characters transmitted from father to his grandson through his
daugter is called as :

(a) Straight inheritance

(b) Criss-cross inheritance

(c)  Cytoplasmic inhentance

() None of the above

A chromosomal segment is exchanged between two homologous or non-

homologous chromosomes are called :

(a) Inversion (b) Translocation

(c) Deletion () Insertion

A genetical disease in humnan female caused by absence of oue

¥ chromosome is called as :
(@) Turner's Syndrome (6) Down's Syndrome
(e} Klinfelter's Syndrome (f) Patu's Syndrome
Albinism an inborn error is due to absence of :

(a) Phenylalanine (b) Melanin pigment

(¢c) Homogentisic acid (d) Haemoglobin

The synthesis of M-RNA from DNA is catalysed by an enzymeé
is called :

(@} Endonuclease (b) Lygase

(e) RNA polymerase (d)  Trypsin.

9CDS&331BF?S‘IBI&SZSBdﬁﬁ#EDEQCEG
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Theory
2. What is interaction of genef™ Explain complementary factor with suitable
example. 10
Or
Write short notes on :
(@)  Incomplete dominance
(b) Alkaptonuria.
3. Define crossing over. Explain mechanism and significance of crossing over.
10
Or
Write short notes on :
(a) Rh factor
(b) Down's syndrome.
4. What is Sex-linked inheritance ? Explain it with reference to colour blindness.
10
Or
Write short notes on : .
(@) Sickle cell anaemia
(b) Structure of t-RNA.

Y—156—2019 - 3

9CD5A331 BF954B16525B495648DESCEQ



This question paper contains 1 printed page]
X—67—2019
FACULTY OF SCIENCE AND TECHNOLOGY
B.Sc. (Second Year) (Third Semester) (Regular) EXAMINATION

OCTOBER/NOVEMBER, 2019

ZOOLOGY
Paper VI
(Genetics)
(Friday, 29-11-2019) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (i) Attempt All questions.
(i1)  Illustrate your answers with suitably labelled diagrams, wherever

necessary.

5 What is Interaction of genes ? Explain supplementary factor with suitable
example. 15

Or
(A) Explain Mechanism of crossing over.
(B) Explain inheritance of A B O bloed groups in Man.

. 8 What is Mutation ? Explain structural alteration in chromosomes. 15
Or

(A) Explain Structure and Functions of RNA. 8

(B) Define pedigree analysis. Describe any seven symbols of Pedigree. 7

3.  Attempt any two of the four, (each of 5 marks.) 10

(@)  Back cross.
(b)  Erythroblastosis Foetalis

()  Hypertrichosis
(d  Klinefelter Syndrome.

X—67—2019 1
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Name of the Examination: Winter Examination — 2020

Name of Subject:

Zoology

Cluster.Code:
(as per examination time table):

SD

B.Sc. Second Year Semester:;

Class:

I11

Paper title and Paper no
(as examination per time table):

Physiclogy, Paper no.-VI (New)

Date : 12/03/2021 Time : 1 Hrs, | Maximum Marks: 40
N.B. (1) Attempt all questions.
(2) All question Carry equal marks,
(3) Use OMR Answer sheet.
I The Small intestine has three parts. The first part is called
A. Duodenum
B. Oesophagus
C. Larynx
D. None of the above
2. | ee——— is a protein deficiency disorder
A, Scurvy
B. Anaemia
C Kwashiorkor
D. None of the above
3. Doctors will suggest ---—- if person is suffering from high blood cholesterol
A. Ghee
B. Vegetable oil
c Dalda
D. Lard
4, Nyctalopia can occur due to the deficiency of
A. Vitamin A
B. Vitamin C
G Vitamin K
D. Vitamin B2
- —————--—- stimulates the production of gastric juice in the stomach.
A, Gastrin
B. Enterokinase
C. Rennin




D. | Digestion

6. Which of the following vitamin help in blood clotting?
A, Vitamin A
B. Vitamin C
c. Vitamin D
D. Vitamin K
7. Which of the following is a water- soluble Vitamin?
A Vitamin B1
B. Vitamin C
C: Vitamin B2
D. All of the above
8. Respiration in mature mammalian erythrocytes is -—--—-- -
A Linear
B. Absent
C. Anaerobic
D. Aecrobic
9. The greater fissures in humans are present on
A Right lungs
B. Left lungs
C. Both right and left lungs
D. Not present in the lungs
10. -——-=sa prevents the collapse of the trachea
A. Jugular foramen
B. Cartilaginous rings
C. Diaphragm
D. None of the above
11. The total number of orifices for outgoing and incoming of urine through the
bladder is
A, 2
B. 3
C: 4
D. 5
12. This artery passes blood to the kidney
Al Common iliac
B. Cystic
C. Renal
D. Coeliac _
13. Conversation of excess of amino acids into urea is done in
A. Lungs
B. Large intestine
C. Liver




. ,," Ith'v:h.a
o in man thlm I8
=l l‘s e I‘murptum
= E___ - mﬁiﬁﬁuus “Ih B
s "[ "c'ltmri'ihuﬁ : s S
— D . None of the above
£ The smallest functional um.t of Lu’mq P
A Nephon s g
B. Collecting tube - ]
C. Glomerulus i
D. Bowmans capsule
16 | What s the main function of blood?
A. Transport
B. Protection
o4 Regulation
D. All of the above
17. | Red blood cells are also known as w-se-ee-e-
A Enythrocytes
B. Platelets
C. Leukocytes
D. None of the above
13. | In human being duration of cardiac cycle is
A 0.08 sec
B. 0.8 sec
G, 0.5 sec
D. 8.0 sec
19. | In normal man systolic and diastolic blood pressure is
A. 100/80 mm Hg
B. 120/80 mm Hg
ol 140/100 mm Hg
D. 150/90 Hg
20. | Life of RCB is approximately
A 365 days
B. 120 days
C |30days
D |Tday
21, | A particular ECG change observed in Hypokalacmia is
& ST segment elevation
B. T wave
C. Tall peaked t waves
D. Widening of the




L L

hn -11:.?‘3

W
72. | ECG report must consist of the following information ¢~,'&m*"'"""‘
A. Rhythm cardiac axis qyered
B. Conduction intervals | oy
. Description of the ST segments, QRS complexes, T- waves
D. All of the above | i
23. Nissl's granules are found in i
A, Nerve cells
B. RBC
C. WBC ‘.
D. Platelets
24, | A nerve impulse is first received by ----—--—-
A, Axon
B. Soma
C: Synapse
D. Dendrite
285, Which of the following neurotransmitters is relatively slow-acting?
A. Norepinephrine
B. Glycine
C. Aspartate
D. Glutamate
26. | Which of the following poteins are not found in muscle fibres?
A, Keratin
B. Actin
C. Tropomyosin
D. Troponin
27. Muscle cells are --=-=----—- -
A. Irregularly shaped
B. Cylindrically shaped
C. Extremely fragile
D. Extremely labile
28. | Skeletal muscle tissues are controlled by?
A Somatic division
B. Parasympathetic division
C. CNS
D. Sympathetic division —
29. | The muscles whose contraction is under our control are
A, Skeletal muscles
B. Nerve muscles ==
E‘ Epidermal muscles
0 Xylem muscles

The skeleta] muscles are also known as

4



R Tse
| 1A Striated muscles =
-~ __‘_-_-_-_-_-_-_-___-_-_‘—-—-___‘_‘_
: B. | Impulsive muscles ‘ _““\——-______‘______
. C. Reflexive muscles e
D. Adipose musc |
o LpOs€ muscles
| L. These cells of the testes secrete lcslustemnc\-\\
A, Sertoli cells i
B. Cells of genninal epithelium o —
C. Cells of Leydig or interstitial cells Nl
D. Secondary Spermatocytes
32. | Which of these is ag accessory reproductive gland in male mammals
A. Inguinal gland
B. Prostate glands
C. Mushroom shaped gland
D. Gastric gland
33. What are the female gonads?
A Ovary
B. Ova
C, Testis
D. Testicles
4. In male reproductive system testicles are inside a sac called as
A. Scrotum
B. bladder
G Rectum
Glands i
35 E;Jring which cycle day of a typical 28 days menstrual cycle does the follicular
‘ phase occur?
. Cycle days 7-14
B Cycle days 14-28
C Cyﬂ]e dﬂ:“ls 1-6
1-13
6| What cycle days does the luteal phase occur!
' i Cycle days 15-28
5 Cyclc days 5-13
C. C}ﬂ:iﬁ dﬂ-ys 14
-14
D. Cycle days 1 — ———-
37. | Sertoli cells are regulated by pituitary beohe ciowa 3
— A. FSH
B. LH
C. GH
D. Prolactin
38. | FSH is produced by ~-——-




A, Thyroid gland ey
B. Anterior pituitary gland
C. Posterior pituitary gland
D. Gonads
39. | Which part of pancreas produce and secrete insulin?
A, Glomerulus
B. Bowman'’s capsule
C. Islets of Langerhans
D. Loop of Henle
40. Which cells produce insulin?
A. Alpha cells
B. Beta cells
C. Delta cells
D. F cells
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Faculty of Science
B. Sc. 5.Y. (Semester -III) Examination Winter 2020
Subject: Zoology
Paper Title & No.:Genetics - Paper No. VI (0ld)
Cluster Code : SD
Date : 12.03.202] Time : I Hour Maximum Marks : 40

N.B. (i) Attempt all questions.
(ii) All questions carry equal marks.
(iii) Use OMR Answer Sheet.

1) Father of genetics was -—--—---
a) Mendel b) Hugo Devries c) Bateson d) Carreus
2) Back cross is a cross between=---—-—«-ea '
a) hybrid X dominant parent b) hybrid x recessive parent
c) hybrid X hybrid d) A & B both
3) Test cross is a cross between meeauen
a) F; X dominant parent b) F1 X recessive parent
c) FiXF, d) All above
4) The branch of biology which deals with the study of heredity & variation is called ----
a) Evolution b) Genetics c) Ecology d) Mutation
5) Number of characters studied in garden pea by Mendel is'E- e
a) Two b) Four c) Five d) Sever
5) A cross between two pairs of alleles is called
a) Monohybrid cross b) Dihybrid cross
c) Test cross d) Back cross
7) In mice which colour is dominant over both black and albinos?
a) Black b) Albino c) Agoutl d) All
3) Which of the following ratio shows complementary gene interaction?
a) 9.7 b)9:3:4 c)13:3 d) 15:1
b When a single character is controlled by two or more pairs of non-allelic genes independently the
genes are called--—-— .
a) Duplicate b) Complementary ~ ¢) Supplementary ) Epistasis
10)  Which of the following is an example of non-allelic genic interaction?
a) Complementary factor b) Supplementary factor
c) Epistasis d) All above

1)  Multiple alleles control inheritance of

: lindness
b) Sickle-cell anemia c) Phenylketonuria d) Colour blin

a) Blood groups

1



12)

13)

14)

15)

18)

19)

20)

21)

22)

23)

24)

25)

26)

Which of the following blood groups belongs to the category of universal recipient?

a)A b} B c) AB d)O

The ABO blood groups are discovered by |

a) Correhen’s b) Morgon ¢) Lowerence + d) Landsteiner

A women with blood group A marries a man with blood group B the possible blood group of
offspring is

a) A, B b) A,B,O «c¢) AB,B d)A,B,AB, O
Erythroblastosisfoetal is a hemolytic disease of new born foran ___ fatherand ____mother.
a) Rh +ve, Rh +ve b) Rh —ve, Rh -ve

c) Rh +ve, Rh—ve d) Rh—ve, Rh +ve

Linkage of hereditary units was discovered by

a) Sutton b) Bateson  ¢) Muller d) Gaur

Complete linkage means
a) Parental and recombinant types exist in equal proportion

b) Parental type are more than recombinant type

c) Only recombinant types
d) Only parental types
The first person to discover chiasma formation and related process is
a) Morgan b) Mendel c) FransAlfonsJanssens d) Zeranike
During crossing over the paired homologous chromosomes forms condition.
a) Bivalent b) Tetravalent ¢) Coupling d) Repulsion
The number of linkage groups in drosophila are
a) 04 b) 08 c) 07 d) 23
The word chromosome Was coined by .
a) Hofmeister b) Waldeyar c) Robert Brown d) T.H. Morgon
Which of the following will be colourblind. 7
a) XY b) X°X° €) XX d) XX
Haemophilia are more common in males than females because it has a c{].rumusome.
a) Recessive character carried by X b) Dominant charactel.' carried by Y

d) Recessive trait carried by X

¢) Dominant trait carried by X
The number of Autosomes in the human male and females are

a) 22 pairs b) 23 pairs c) 44 pairs d) 46 pairs
A man receives Y-chromosome from his .
-a} Mother b) Father c)Botha&b )
Holandric genes are present on chromosome. .
)X b)Y c) polyene d) lamp
a

2



27)  Holandric genes are directly inherited from

a) Father to daughter b) Father to son
¢) Father to granddaughter d) Mather to son
28)  Sex-linkage was discovered by
a) TH.Morgon ~ b) Punnet c) Bateson o) Taiwecii

29)  Queen Victoria of the Royal family of Europe was suffered from :

a) Haemophilia b) Colourblindness  c) Hypertrichosis d) All above
30)  When X/A ratio in Drosophila is more than 1.5 it is ;

a) Male b) Meta Female c) Intersex d) Meta male

31) Mutation is

a) A change that is inherited b) A change that is not inherited

c) A change affects the parentsonly ~~ d) A change affects F2 generations
32)  Trisomy in man causes a syndrome called syndrome.

a) turner’s b) klinefelter’s c) Down’s syndrome d) cat-cry-du
33)  Condition of sex chromosomes in a male child of Down’s syndrome will be

a) X0 b) XX o) XXY d) XY

34) A man having klinefelter’s syndrome is
a) Normal fertile female
b) Male with secondary sexual characters of female
¢) Female with secondary sexual character of male
d) Normal fertile male

35) S:x—chrnmor;nmes of birds are —---

a, ZZ-ZW b. ZZ-WW c. ZZ-Z0 d. XX-XY
36)  Purines are -—-

a. Adenine guanine b. Adenine cytosine

c. Thyamine, uracid d. Thyamineuracid cytosine
37) Backbone of DNA consistsof ...............

a. Phosphate & pyrimidine b. Sugar and Pyrimidine

c. Phosphate & sugar d. Purimine& pyrimidine
38) Replication of DNA occurs at -—---

a, G-Phase b. S-Phase c. G3-Phase d. Gy-Phase
39) Proof reading during replication of DNA is done by -—--

a. DNA polymerase b. RNA polymerase c. Primare d. Sigma-factor

40) The genetic code is found in ---—

a. all prokaryotes b. all eulcaryotes c. all mammals d. All organisms
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NB — ) Attempt all questions.
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i) Nlustrate your answers with switably labelled dingrams wherever

necessary.
Describe the classifiention and properties of carbohydrates.
a.

W Explain the electrochemical properties of water.

5

) Desenbe effect of concentration of enzyines and substrate on enzyme

activity.
Describe Glyralysis (EMP) Pathway.
Or
(1 Explain Ketogenesis and Ketolysis.

()  Deseribe transamination and deamination
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[ Name of Examination: Winter Examination 2020
Name of subject Zoology
Subject code: B Sc [/Cluster Code 117
(As per examination time table)
Class: [ B.Sc. Second Year Semester [ 111
Paper title and paper no. Paper V1I (Old) : Comparative anatomy &
i (As per examination time table) physiology
Time: [ 01 hour Maximum Marks: | 40

' N.B. (1) All questions are compulsory.
(2) All questions carry equal marks
(3) Attempt all the guestions

1)skin of frog is characterized by the absence of

(A)Scales |B)Mucous glands (C)Chromatophores [DjNone of these
2) Hairs in mammals are derivatives of

{A) Dermis (B)Epidermis

[CIMesodermis [D}Endodermis

3)Milk glands characteristics feature of
{A) All vertebrates (8) All mammals
(€} Placental mammals (D) Fish

4) Hoofs and horns are derivatives of

{A) Cartilage |B)Bone

{C} Skin (O} Muscle

5) Lungs are protecteed by

AJEpicardium B) Pericardium
C) Endometrium D) Diaphragm

6)) The instrument used for measuring blood pressure is known as
A)ECG B) Stethascope
C) Sphygmomanometer D) EEG

7)The coagulation of blood occurs due to
{A) Destruction of RBC

{B) Destruction of WBC

(€] Destruction of lymph

[D)Aggregation of blood platelets

8))Heart beat is

(A) Induced by hormones

B) Voluntary process

(C) Regulated by Vagus nerve complex
{D) Auto inducing
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Q) Nephron (D) Pyramid
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(B) Ammonia i tacaoie and urea in Uk g

(C) Urea in bath tadpale and adult fog
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Name of Examination: Winter Examination 2020

Name of subject Zoology

Subject co de: B.Sc Il/Cluster Code 117

(As per examination time table)

Class:_ | B.Sc. Second Year Semester | It

Paper title and paper no. Paper VII (Old) : Comparative anatomy &
(As per examination time table) physiology

Time: | 01 hour Maximum Marks: | 40

N.B. (1) Al questions are compulsory.
(2) All questions carry equal marks
(3) Attempt all the questions

1)5kin of frog Is characterized by the absence of

(A)Scales (B)Mucous glands (C)Chromatophores (D)None of these
2) Halrs in mammals are derivatives of

{A) Dermis {B)Epidermis

{C)Mesodermis (D)Endodermis

JIMilk glands characteristics feature of
(A) All vertebrates (B) All mammals
(C) Placental mammals (D) Fish

4) Hoofs and horns are derivatives of

{A) Cartilage {B)Bone

(C) Skin (D) Muscle

5) Lungs are protecteed by

A)Eplcardium B) Pericardium
C) Endometrium D) Diaphragm

6)) The instrument used for measuring blood pressure is known as’
A} ECG B} Stethoscope
C) Sphygmomanometer D) EEG

7]The coagulation of blood oceurs due to
[A) Destruction of RBC

(B} Destruction of WBC

(C) Destruction of lymph

(D)Aggregation of blood platelets

B))Heart beat Is

(A} Induced by hormones

B) Voluntary process

(C) Regulated by Vagus nerve complex
|0} Auta inducing



09) Following s an important method for checking the heart rate
(A) X ray (B} ECG (C) ELISA (D) CBC

10) Erythroblastosis Foetalls causes
{A) Destroy the baby's WBCs

(B) A baby suffering from atherosclerosis
(C) Destroy the baby’'s RBCS

(D) An increasing in the numbter of RBCs

11) Chief Nitrogenous waste in bird is
(A)Urea (B) Uric acid
{C) Ammonia (D) Sweat

12} Ornithine cyde completes in the organ
(A) Kidney (B} Liver
(C) Spleen (D) Pancreas

13) RBC are Present in
A ) Rat (B) Man (C) Rabbit (D) All of above

14)MNature of the enryme is
[4) Protein {8 JUpid
(C)Carbohydrate (D) None of the above

15) Which of the following is correct?

|A) Apoenzyme + Cofactor = Holoenzyme
(B ) Apoenzyme - Cofactor = Holoenzyme
(C) Apoenzyme =Cofactor — Holoenzyme
{D) None of the above

16)Functional unit of nervous system
(AYNeuran (B) Somites
(C) Synapse ( D} Axon

17) Function of Glomerulus is..
(A) Formation of urine (B} Passage of urine
(C) Secretion of water (D) Absorption lons

18) Blood is
{A) Acidic (8) Amphaortic
(C} Alkaline (D) Meutral

19) JNight blindness causes due to defidency

(A) Vitamin A { B) Vitamin B12
(C) Vitamin B6 |D) Vitamin D
20)Induced fit theory proposed by

(A)xoshland  (B)Charles Leibeg
{C) Buchner (D)Fischer
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S.R.T.M.U. Nanded
Faculty of Science and Technology
Examination Summer 2020

Class:- B.Sc. (Second Year)

ClusterCode :- SD
Sem:-11lrd Subject :- Zoology
Paper No:-VIith (New) Date:- 12/03/2021
Paper Name .-Biochemistry Time :-1Hrs

Max. Marks:- 40

1. All Question are compulsory
11. All Questionare equal Marks.

. One marks to each correct answer MCQ

Q. L Carbohydmates are classified iN10 MAIN ..o ooeees groups.

a One b. Two c. Three d. Four
Q. 2. The main sources of Carbohydrates are ......co.oeeeeen

a Rice b, Wheat c. Roots 4 All of the above
Q.3 Amino Acids are the basic UMM OF ..o oo eeesrrssnarsans imessissass s

s Proteins b Carbohydrate c. Lipids d. None of these

Q. 4. Proteins containing lipidsnre:nl!.mi

a Lipoproteins b. Phospholipids c. Both A & B d None of these

Q. 5. Fatty Acids are the basic umit of ... ..cooemeeeees and most lipids.
a Proteins b, Fats ¢c. Carbohydrates d. All of the above

Q. 6. Fats provide support for the organs in the body ..o
a Stomach b. Liver c. Hearl d. Brain

Q. 7. The term enzyme was First introduced By ccoovreeoeanisimmmn s
a Mulder ' b. Porter c. Kreb's d. Kuhno

Q. 8. Lock & Key hypothesis was proposed by ...ooeeaeeaees

a. Emil fisher b Lands Teiner c. Con , d. Cannon

Q. 9. E-S Complex is alsocalled as ......ooereiee
a. Michaelis Complex b. Lewis Complex €. Villiam Complex d. None of these

Q. 10, Which among the following is the nature of enZyme ......ooieeeee
a Carbohydrates b. Proteins ¢ Lipid d. Vitamine

Q 1L Akoshlandproposed which model .vevieerereasias
a Fluid Mosaic Model b. Induced fit Model

¢. Lock & Key Model dReflactive index Model

Q. 12. Which of the fi ollowing statement is incorrect?
n. Enzymes are protein in nature b. Enzymes arc Colloidal in nature
c. Enzymes are pherolabile in nature d. Enzymes are inorganic catalyst



18 The sy nihesis ol Cillywoggen fn Clucose 18 called
a Clwcopsogenasis b Ulucageineas ¢ Cilycolysia d. Glucogenolyeis

T e Clycolysis (s also called ns
a L I LMY ¢ ATIVENAL

O 1% The end prsduct of Clyeolysin is
o One molecule of pyruvic acid
¢ Thiee Malecule of pyruvic acid

b Two Molecule of pyruvic acid
d All of the nhove

O 16 The synthesis of caibohydrates fum proteins & fats is colled .......

a Glucogenesis b, Clucogenolysis ¢ Gluconeogenesis d. None of the above

Q 17 The breakdowon of Glycogen to Glucosets called ... ...
a Glycogenesis b Glycogenolysis ¢ Glyconcogenesis d. None of the above

Q 18 The kieb's cycle 15 also known as B
a E1S b Glycolysis ¢ TCAd EMP

Q 19 How many reactions that occur in the ECA Cycle transfer electron from a substrate to an
electron accepting enzymes?

al b 2 ¢ d 4
Q 20 AcetylCoAsa ... Carbon compound
al b 2 el d 4
Q 21 In the TCSA Cycle, which of the following combines with acetyl CoA to form a 6 carbon
compound?
a Oxaloacetate b Glucose ¢ Pyruvate  d. Thiamine
Q H_p-Dwidmiunwuﬁrﬂpmpm:dhy e A
a F-knoop b, W. Harpey ¢ A Bucner d. None of these
Q. 23. The base source of trans fatty Acid indielis ........... ¢
a Vegetables b Groundnut c. Dairy product d. Fruit
Q. 24. The acidification of Blood due to the build up of ketones is called .............
a Ketoacidosis b. Alkalinity ¢. Ketogenesis d. Ketones
Q. 25. What is the location of Ketogenesis?
a Aytosol  b. Plasma membrane ¢. Mitochondria d. Ribosomes
Q 26.In wchich cell, Ketogenesis takes place?
a Brain cell b. Liver cell c. Nerve cell d. None of the above
Q. 27. Where do designation of protein takes place?
a. Small intestine b. Stomach c.BothA&B d. All of the above

Q. 28. Which reaction is required for the removal of Alpha Amino group to form Ammonia?
a Transamination b, Transcription ¢. Deamination d. BoathA & C



Q. 29.

Q. 30.

Q.31
Q.32
Q. 33.
Q. 34,
Q.35.
Q. 36.

Q.37.

Q. 38.

Q. 39.

Q. 40.

What happens during transamination reaction?
a. Ammonia is liberated b. Amino group is transferred

¢. Amino group is converied d. All of the above

Which of the following is the only amino acid which can be removed through oxidative

Deamination?
a. Glycine  b. Alanine  c. Aspartate d. Glutamate

Which of the following amino acid do not participate in the transamination reaction?

a Lysine b. valine c. Threonine d. BoathAd&: C

The removal of amino group from the amino acid is called ........... '

a, Deamination b. Transamination  c. Decarboxylation d. Transmethylation
In which form ammonia is disposed in the leaver?

a Urea b. Uric acid ¢. Bile  d. All of the above

Urea is synthesized in .
a Cytoplasm b Mttuchundna c. BoathA& B d. Lysosomes

The ammonia acid that undergoes oxidative deamination at the highest rate is .............
a. Glutamine b. Glutamaate c, Aspartate d. Alanine

Urea production occurs almost exclusively in................
a. Kidney b. Liver ¢. Blood d. Urine

Which is the first amino gmup enteriné into urea cycle?

a Uricacid b. fatty acids ¢. Amino acid d. None of these
Nitrogen atoms of urea produced in the urea cycle are derived from ............

a Amonia& Aspartic — Acid b. Nitrate c. Nitrite d. Ammonia
Urea cycle converts .. e

a. Keto Acids into amino amds b. Amini acid in to keto acids

c. Ammonia into a less toxic form d. Ammonia into a Moretoxic form

The carbon atom source while producing urea in the urea cycle is . ;
a CO, b. Glucose ¢. Aspartic Acid d. Argmme
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[. All Question are compulsory

[1. All Question are equal Marks.

[1I. One marks 1o each correct answer MCQ
=TT e
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Q. 1. Carbohydrates are classified into main ................. groups.

a One b, Two c. Three d. Four
Q. 2. The main sources of Carbohydrates are .................

a. Rice b. Wheat ¢. Roois d. All of the above
Q.3 Amino Acidsarethe basicunits of ... . ooooiiiiiiii

a Proteins b, Carbohydrate ¢. Lipids d. None of these
Q. 4. Proteins containing lipidsarecalled .....................

a. Lipoproteins b. Phospholipids c. BothA & B d Mone of these
). 5. Fatty Acids are the basicunitof ................. and most lipids.

a. Proteins b, Fats c¢. Carbohydrates d. All of the abave

Q. 6. Fats provide support for the organs in the body ................
a. Stomach b. Liver c. Heart d. Brain

Q. 7. The term enzyme was First introduced by ...
a. Mulder  b. Porter ¢. Kreb's d Kulmu

Q. 8. Lock & Key hypothesis was proposed by ... ..........oo.o.
a. Emil fisher b. Lands Teiner c. Cori d. Cannon

Q. 9. E-S Complex is also called as .
a. Michaelis Complex h L:wls Con‘tp[ex c. Villiam Complex d, None of these

Q. 10. Which among the following is the nature of enzyme ..
a, Carbohydrates b. Proteins ¢ Lipid d. Vutarmm:

Q. 11. Akoshlandproposed which model ..
a. Fluid Mosaic Model b. Induc'ed fit Model
¢. Lock & Key Model dReflactive index Model

Q. 12, Which of the following statement is incarrect? .
a. Enzymes are protein in nature b. Enzymes are Colloidal in nature
¢. Enzymes are pherolabile in nature d. Enzymes are inorganic catalyst



(). 13 The hiosynthesis of Glycogen from Glucose is called 4 Glieaeitii

a Gluconeopenesis b Glucogenesis ¢. Glycolysis

Q. 14. The Glycolysis is also calledas ......... ..
b EMB c. ATPdNAD

a EMP
Q. 15. The end product of Glycolysisis ... .. . o
a. One molecule of pyruvic acid b. Two Molecule of pyruvic acid
d. All of the above

¢. Three Molecule of pyruvic acid

Q. 16. The synthesis of carbohydrates from proteins & fats is called
a Glucogenesis b. Glucogenolysis  ¢. Gluconeogenesis  d. None of the above

Q. 17. The breakdowon of Glycogen to Glucoseiscalled ................
a Glycogenesis b. Glycogenolysis ¢ Glyconcogenesis  d. None of the above

Q. 18. The kreb's cycle is also known as

a ETS b. Glycolysis c. TCAd, EMP
Q. 19. How many reactions that occur in the ECA Cycle transfer electron from a substrate to an
electron accepting enzymes?

a l b.2 &3 d 4
Q. 20. AcetylCoAisa.............. Carbon compound.

a l b. 2 €3 d4

Q. 21. In the TCSA Cycle, which of the following combines with acet yl CoA to form a 6 carbon

compound?

a. Oxaloacetate b. Glucose ¢ Pyruvate d. Thiamine
Q. 22. f - Oxidation was first proposed by .. ...............

a, F-knoop  b. W. Harpey c. A Bucner d. None of these
Q. 23. The base source of trans fafty Acid in dietis ............

a Vegetables b. Groundnut c. Dairy product d. Fruit

Q. 24. The acidification of Blood due to the build up of ketonesis called ...
a Ketoacidosis b. Alkalinity c. Ketogenesis d. Ketones

Q. 25. What is the location of Ketogenesis?

a Aytosol  b. Plasma membrane ¢. Mitochondria d. Ribosomes
Q. 26.In wchich cell, Ketogenesis takes place?
a Brain cell b. Liver cell c. Nerve cell d. None of the above

Q. 27. Where d? designation of protein takes place?
a Small intestine b. Stomach c. BothA&B d. All of the above

Q. 28. Which renc'tiuq is required for the remaval of Alpha Amino group to form Ammonia?
2 Transamination b, Transcription ¢. Deamination d. BoathA & C



Q. 29. What happens during

Q. 30. Which of the following is th

transamination reaction?
b. Amino group is transferred

a Ammonia is liberated
d. All of the above

¢. Amino group is converted
e only amino acid which can be removed through oxidative

Deamination?
a Glycine  b.Alanine  c. Aspartate d. Glutamate
Q. 31. Which of the following amino acid do not participate in the {ransamination reaction?
a Lysine b valine c. Threonine d. BoathA& C
Q. 32. The removal of amino group from the amino acid is called ..........
a. Deamination b, Transamination ~ C. Decarboxylation  d. Transmethylation
Q. 33. In which form ammonia is disposed in the leaver? |
a Urea b. Uricacid c. Bile  d. All of the above
Q. 34. Ureais synthesized 0 .......coveeeer
a Cytoplasm b. Mitochondria c.BoathA & B d. Lysosomes
Q. 35. The ammonia acid that undergoes oxidative deamination at the highest rate is .............
2. Glutamine b. Glutamaate ¢, Aspartate  d. Alanine

st exclusively i ........ooovenns

Q. 36. Urea production 0¢curs almo
c. Blood d. Urine

Q.37

Q. 38.

Q. 39.

Q. 40.

a Kidney b Liver

Which is the first a:riﬁl_n gmup entenng inm urea cycle?
a Uricacid b. fatty acids c. Amino acid d. None of these

cycle are derived from ............

Nitrogen atoms of urea produced in the urea
ic — Acid b. Nitrate ¢. Nitrite d Ammonia

a Amonia& Aspar!

Urea cycle converts ..o
ino aci b, Amini acid in to keto acids

a Keto Acids into amino acl
¢. Ammonia into a less toxic form d. Ammonia into a Maretoxic form

roducingureainthemcycleis

The carbon atom source while p
a COy b. Glucose ¢. Aspartic Acid d. Arginine
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FACULTY OF SCIENCE AND TECHNOLOGY
B.Sc. (Second Year) (Third Semester) (Regular) EXAMINATION
OCTOBER/NOVEMBER, 2019

(CBCS Pattern)
ZOOLOGY
Paper VII

(Comparative Anatomy and Physiology)
(Friday, 29-11-2019)

Time—2 Hours

Time : 2.00 p.m. to 4.00 p.m.

Maximum Marks—40

N.B. :— (1) Attempt All questions.
(it}  INustrate your answers with suitably labelled diagrams, wherever
necessary.
1. Give a comparative account of kidney in vertebrate series. 15
Or
Write notes on :
(a) Classification of Enzymes
(b) Lipid digestion T
2. Describe the structure and working of Human Heart. 15
Or
Write notes on :
(a) Structure of uriniferous tubules
(b) Structure of synapse 7
3. Write short notes on any two of the following : 10
(@) Mammalian integument
() Vitamin C
()  Transport of O, and CO,
(d) Cardiac muscle.
X—68—2019
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W—146—2018
FACULTY OF SCIENCE
B.Sc. (Third Semester) EXAMINATION
OCTOBER/NOVEMBER, 2018
(CBCS/CGPA ‘Pattern)
ZOOLOGY
lPm:h\!r' VIT
{Comparative Anatomy and Physiology)

(MCQ & Theory)

(Saturday, 27-10-2018) Time : 2.00 p.m. to 4.00 p.m.

Time—2 Hours Maximum Marks—40

NB — (n All questions are compulsory.
(fn Use geparate (OMR) nn'sjn'rar-aheét for Question No. 1.

(i Draw well labelled .diag'.rnmﬂ wherever necessary.

(¥ All questions carry equal marks.
MCQ

L  Select the correct answer from the given Multiple Choice Questions : 10
i Two-chambered heart is found in :
{a) Scoliodon (&) Frog
(a2 Human {dh Snake
()  Outermost layer of mammalian epidermis is :
(g) Stratum germinativum (6}  Stratum granulosum
(¢ Stratum lucidium {(dh Stratum corneum
P.T.O.
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(i)

(1v)

(v

(vr)

{ win)

( vzid)

(x)

All enzymes are |

(1) Lipd nnd enrbohydraten
() Protein only

I'nt soluble vitamins are :

(@ B and C

(c) B, C, P

Deficieney of Vitamin D causes :

(41) Rickets

(¢} Hypoprothrombinemia

Right lung of man conaista of :

(a)  One lobe

(c) Two lobes

Largest sized WBCs are :
(2)  Basophils

(&) Eosinophills

(4

()

(b
(c)

(5

{ef)

(b)
(d)

(b)
(d)

W— 144

Caorbohydrates only
Lipids only

A D E K

B complex

Scurvy

Beri-beri

Three lobesa
Four lobhes

Lymphocytes
Monocytes

2014

The animals excrete excretory product in the form of ammonia are

called as : >
(a) Ammonotelic

(o) Ureotelic

(&)
(d)

Uricotelic

Purinotelic

The junction between two neurons is called :

(a) ~ Giant
(¢  Nephron

Smooth muscles are present in the wall of :

(a) Intestine

(] Blood Vessels

() Synapse
(d) Cyton

() Stomach
() All of these

0D56F35D48BEAT5BSSCI10105A739BICF
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Theory
2. Give a comparative account of integument in pisces and amphibia. 10
Or
Write notes on :
(&) Amphibian Heart
(b) Structure of Kidney (V.S.).
3. Give an account on various factors affecting enzyme activity. 10
Or
Write notes on :
(a)  Carbohydrate digestion
(b) Structure of Neurons.
4. Describe the structure and working of Human Heart. 10
Or
Write notes on e
() Transport of Oy and CO, -
(&) Skeletal Muscles, .-
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V—128—2017
FACULTY OF SCIENCE
B.Se. (Third Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017
(CBCS Pattern)
ZOOLOGY
Paper VII
(Comparative Anatomy and Physiulﬁg}r}_.

(MCQ+Theory)

(Tuesday, 21-11-2017) Time : 2.00 p.m. {0 4.00 p.m.

Time—Two Hours
N.B. — )
(i)
(iic)

Maximum Marks—40
All questions are compulsory.

Use separate (OMR) answer sheet for Question No. 1.
Draw well labelled diagrams wherever necuséary,

(iv) All questions carry equal marks.

MCQ

1. Sele'_E:{g-:"haneet answer from the given multiple choice : 10
('l - "Nails, hoofs and horns are derivatives of ..............
“(A) Dermis ' (B) Epidermis
'. -{C}' Endodermis (D) None of these
(i) " Mammalian kidney is ..o,
“{A)  Metanephric B) Proneghise
B (€)' Opisthonephric (D) Mesonephric
Iiiii] ank and Key hypothesls of enzyme action was proposed by .................
a (A) Em{l Fischer (B) Krebs
(G] ‘._E’Egshland (D) Barnard
S P.T..
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Deficiency of vitamin 'C' CAUSES ...cocinereensens
(A) Ricketts (B) Beri-beri
(C) Xerophthalmia (D) Scurvy

(u)  Digestion of carbohydrates occur in .......ccoivs
(A) Stomach (B) Buccal cavity

(C) Intestine (D) All of these

(vi)  Gills are the specialised structure for ..........
(A) Aquatic respiration (B) = Cutaneous respiration

(€) Pulmonary respiration (D) Aerial respiration

(ev)

(vii) In a normal adult man, the blood pressure is‘ .....................
A) 100/80 MM.Hg. = (B) 120/80 MM. Hg
@) 100100 MM. Hg. '~~~ (D) 100/120 MM. Hg.
(wiii) The animal excrete:'éxc;'}etohr' products in the form of urea are called
(A) . Ammonotelic . . . . (B) Uricotelic
(C) * Purimotelic: *, - * (D) Ureotelic
(z)  Structural and functional unit of nervous system is ................
(&) Neuron - I (B) Medulla
(C) .P{epI;run S i _ (D) Cortex
(@@  Cardiac musclesf‘ére'-pr;séni.g m ....................
() Liver °  (B) Brain
(C) Heart - = - (D) Kidney
s ... Theory
Give: a- comparative al;ﬁdﬁnt of hearts in vertebrates series. 10
i s o Or ‘
Waeate- netes on :
(@)  Pissean Skin

@) Compesition of Urine.

BGFESFDE3068EI6A4773C91 S8A7BBG677
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Give an account of sources, deﬁcienc_v diseases of fat soluble vitamins 10

Or

Write notes on -

(a) Lipid digestion

(b) Structure of Synapse.

What is respiration 2 Describe respiratory organism man. 10
Or

Write notes on -
(@ E.CG. <"
(0) Ultra-structure of skeletq]‘-mi:scle,



Thia queating papes i nine Ao il papesl

1dn 2o
PACUILEY O HC N
0oy, Wy Haaemien ) TN AMINATIN
MAMCIAVELL, b
WORORACUITA Patian)
AORIRARRIRAY
Paper V11
(onetie Enginvering aind Bealnbion)
(MO T iy

(Wednesdny, Q49010 Whannar o AME groaie fp R

Time—2 Honurs Mavipitent AMarks AN

N8B & GY  Attempt Al quentinne,
G One mark o each asvel dnew sl MR
an) AL queshione davey eainl winy ke,
IR Y

Gy Diaw veat nad well Pnbollod dinginme whoveve
(MY

1. Multiple Choide Quesiinis

@ The engya nsed i the polynamtetaze cinin yonetion in
GA) © Restridtion enmyme (1 Neverse fvanpeviptone
8 l'(l}'__~ DNA ]ﬁ\i}'ﬁwﬁw : N RNA pelyinerise
) e coll where the vecombitant DNA is allowed toomulliply and prsdoee
3 ” -"[hl.n'l;’-f‘-“‘gﬂ _ut' its oopies in ealledd am e

(A Competent haat (N Competont vector
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(2)

B—14E_—'£ﬂ19 =
117} OO was the world's first mammalian -clunel. | o
(A) Molly (B) Dolly
© Pally ) Jnlly ,
() Which of the following tzchmques is used for furenm: pl.trpnﬁe ? : ;
(A) Gene cloning ' {B} ﬁﬁﬂﬂtﬂl‘-’rﬂm P
(©) DNA fingerprinting - 2  Organ l:tﬂture S
(i)  Origin of species was wntfen hy x
(A) Oparin R, (B} Wemmann :
(© Lamarek TG m} D
(vit) Connecting Emk hetween rept:les a:ui bm:ls is .
(A) Saymnrma o ; [E} Erchamptergz
(C) I.'lm:]shﬂl pl.atrpns III)} 3 Ichthyustega
(wiiz) Whmh nf t.‘he fulluwmg is a veshgml organ in man ?
Ay Phca smﬂunans : fB}““ Hc!;:ea of middle ear
'-~'_;c3 'Prermﬂlm' teeth "'_-.{_I“n'_f-' Thumb
* (-'-r}‘ ',‘-:"T-'""-"-'“ ; are mgard. as the wntten documents of evolution.
[A} Embr_?o “\ ___;}J.'B} Fossil
"I_.I_-"“-';::{C}' Veéngml organ (D) Atavism
, {t} The frequency uf hetefuzygnt% and homozygotes in a population can

i ,‘ he calculated by x.._:.:‘\ ......... formula.

l'p+q}-- 2+ 2pq + ¢

','.CB} (p+qlﬂ‘-p + pg + g2
"{ci*fprpq}f = p? + 2pq + ¢2

m}\(p+q}‘}72+2ﬂ?+q
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(Fheary)
Doneribe Bouthern and Harthern blobing tectinigques.
r
Write notes an :
(n)  HV40
(by  Bimilarity of embryos.

What is c-DNA library ? Explnin thu crentinn of o-TINA Nibrary.

Or .
Write noten on i
@)  Tronsgenic snimal .
)  Aquatic adsptation.
Describe Lamarck's theory of arganic evolution.

Or . Gra
Write nnhaﬁqn o
(b) Amldgm organs.
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Do, (Fourth Homentar) EXAMINATION
MARON/APIUL, 2010
(ODAH/OAPA).
200100y
Pupar. VI
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{ M(: f{! r'l‘lmurjr}
(Tuendny, 3-4-2018) L s O g '!'jnm J.{]ﬂ p.m to 4,00 p.m,

Nme—2 Hours . S D ..; ﬂfﬂ:fmrfm Murlea—A()
NI~ () Attompt AN quostions, -

(1N One mnvk tu oneh sorract answared’ MO Q
(i) Al quontiona mrry oqual’ mrks,

(Fv) Draw nnut m:d 1wnll ]nlmllud :Imgrmnn whorover noconnnry,

) , MCQ} I:'I i
1. (1) Gunuuu nug‘naninn in s '....,* wr j. 10
), Sl;utl,y ‘of Bonon . R tbj Hhuly of chromonomen

M (o) ) Mﬂﬂlimlnl Inu o[‘- H‘ﬂnﬂu {qj Surgory
o) I'Whut are-.tho. l:hrqh bhmﬂ ubu;m of PCR 7
ﬂ.b‘h;'*'{ 3 } ]Jﬁnnl:urn nnm:rd nml otrand displacomant

5\;*"\1-' : ..-f' pqnntum, nﬁnuul nnd oxtonsion
[p:h, } gmmd diuplncamhnt synthesis and relonse
N.'- ~"+'“;~5;\ ﬁ ;J_\ q“ (‘dg a'“Rémmu trhnnpripuun. annenl and extond
o5 q‘* g ﬂ})\.& f@qm «@ gapa;xi’tgd by one of the following techniquos :
x* 5\\_@;%@_4_“3 S ﬁﬁgt\ma‘m blotting (5)  Woeatorn blotting
\\_‘f;j o 9.;:? ﬂx{a;ﬂ;ﬁm blotting (d) . Eastorn blotting

P.T.0.
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U7 o= is the most suitable bost for mnsn-urbtmnf oDNA ltrary.
(£ Tiphsge (5  Agaricus P T
{8 DPseudomonas speqes (d) - EB i
(v  Transplantstion of animal organs in human system is called ...,

(2 thou'ansplani:stian - (B - Replieation . .
(8 Mutation ‘(A Muﬁﬁmﬁm

(v  Animals pmd'n:tm.ngnmsbyn_pmduchun,ihmu called ..~

(8 Prodigality of production (5) Pm;mgahun ey 3
(@ Hrbridization. S Conjogation ~ .~ 3
(v Thebeﬂtmmplenfm nf\ﬁ;gannm‘,_._-l--. -‘
(2) .Lnﬂﬂ mmaka = Sy '.‘ : _‘-xq_h i -
) Wébbedtnesm&uck TS
Ch _""hed; a.na hmmm g:raﬁ'e
fd" Uns:ulmde foot in“harse
(=10} Emi]mtv nfsh-urhue mmﬂ mt]: similarity of funchon is termed

55 sarrassseastee s :

. fla} Humnlog‘ _ ‘ 2 3__ & Analogy

EE ey:ozugg o5 (@  Ecology
#I2 {m‘lhegnldmnge nfrepﬁ]mmdem,g:mte&ss .......... era.
.. - 'TBJ L‘Imﬂ:‘lt S (5) Proteraroic
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What is cloning vector ? Explain in detail pla.sa:l:u

“u

(

3
(Theory)

W
2.

Write notes on :

(&)

(b)

Restriction enodenucleases -
Homologous organs.

L

T E
2 ...]
- »
o
3
i S
b

-+ 10

ith examples. .

wi

nic

esis ?
Application of DNA.‘ﬁng‘erprmﬁng

Veolant adai:taﬁuﬁ.' ! TS S
Describe Hugo De Vneatheorr of evolution. -

What is transgen
Write notes on :
(a)
(B)

3.

10

4.

1

Write notes-on

(a)

nee -

Struggle for e

®-

“Weinl

law.. .
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(Qenetig

teaday, $-4-2018) Re Time ; 2,00 p.m. to 4.00 p.m.
e Nours RIS TS '

' Jlfnu’mum Marks—4()
B~

Attempt A2 ilunﬁ'titmm

UD One mavrk 'tn tmLh Larrect nnawored: MCQ.

G Al quhuhq‘nu nnrr_}r equal marks,

(" me twut mld Wtﬂl laballod diagrama wherever nece

. _‘A s, T ." X Qu. ‘:\ ; \(MCQ)
memﬁn imgumnthgm a3 ty m' g

L 10
Sy {n] \Sturkwuf“ gtmm SN llﬁ!nv}t ¥ ﬁt.utly of chromosomes
i (c} L{mip\ulnﬁiolg ut"a'eﬁt;&\ (dh Surgery

1«} \mmt ‘are. u;mm b;mm ntopa of PCR ?
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3 (d $tmnd diaplﬂoamhnt

ssary.
(63

(&) Western blotting
(d)  Eastern blotting
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(7  .......... is the most suitable host for mnntruc’tmn nf o-DNA l.lbrary
() Tiphage (b) Agancua,_* *~ _:.-"ﬁ'-'r-"\'_--_"_ 15";~:’

|
w A,
h

(0 Pseudomonas species ( d} E' m{, &g
(7  Transplantation of animal urgans‘in humamsyatem is ca]led ..

(a) }{enutransplantahun 4'@} < Rephcatmn oy ‘,{,-5-"\,.*-:\..-: Pk .5
S - o oy "l ey
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(3) S5y A0—107—2018 -
{Thﬂﬂl’j’) _\:C'._w'i.‘\:: | T
What is cloning vector ? Explain in detail plasmd nn& bnctannphﬂgﬂ
vectors. ¥ TS . 10
Write notes on : TGS e

s i ~ o
()  Restriction enodonucleases .. - . =~ . .o O )
g e B el T \ \;1 e 3 -'
(b)) Homologous organs. Pl e AN -2

What is transgenesis ? Des&ibe t;r;anhgemc arilmal mth ‘examples .-: 10

. B T U NI e ot Rt S e
Write notes on : A SR P 285 ;; ST g

(a) Apphcatmn af I]Nﬁ ﬁngerpmﬁng = M“uk 2
(9): Volant “dﬂpﬁt‘“ﬂv ; ok e :*";-_..“‘ﬁ o “
Describe Hugtl BaYnes f-heory nf' ﬂ'ﬂlu{::mn x x\ . y



This question paper contains 3 prnted P

V—122-2017
FACULTY OF SCIENCE
B.Se. (Fourth Semester) EXAMINATION
NOVEMBER/DECEMBER, 2017
ZO0LOGY
Paper IX

(Endocrinology, Mistology and Biochemistryi
(Monday, 20-11-2017) Time : 2.00 p.m. to 4.00 p.m.

Fime—Two Hours Maxvmum Marks—A40

NB — ) All questions are compulsory
i) All questions carry equal marks.
Wi Draw well labelled dingrams wherever necessary.
(iv)  Use separate answer-sheet (OMR) for Question Nao, 1,
MCQ
1. Select the correet answer from the given multiple chowce 10
() Life saving hormones are scerveted by ..
wa)  Pituitary (by  Thyrad
{¢)  Adrenal () Pineal
i) Deficiency of Insulin causes
(@)  Thyroidism (h)  Goiter
(¢} Diabetes mellitus (dy  None of these
iy  Bleeding phase of menstrual cycle is called :
ta)  Menstrual cycle (h)  Menstruation
1) Menses (@' Menarch
(fv) The functional unit of Testes are known as ...........
()  Collecting tubules (b) Rate testes
ic) Uriniferous lubules ('  Seminiferons lubule
P.T.0.
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Wi ( 2 ) Ve 1222017

(1) Eucanis b sboared an Lhe Torm of plyeogen i
frrh I'increnme th) |HITIIE
(i) Iy (e} Liver

() Sertoli eolls are responsible Tor
(err  Nourmwhment of gpecimalozon
(h Sperm prodacing celln
(e) Transportalion of wpermag
(e/}  None ol the ohove
(i) Cluconeopenesin Means v o
ta)  Synthesin of protien from carbohydrates
(b)y  Synthesis of carbohydrates Irom protein and fats
(c) Synthesis of fats from fatty acids
(el Synthesis of amino acids from carhohydrates
wiii)  The removal of amino group from the amino aad is called ...
{er) Denmination {h)  Transamination
(e) Decarboxylation fel) Transmethylation

(ix)  Ornithine eycle is starts with the combination OF csviiwmsiiniie

(1) CO, and NH, (hy COgy and NHy
(¢) CO, and NI, (d) CO, and HgO
(x) The process of formation of Ketone bodies known as ..ooovveeeieeeeen. -
(¢)  Ketosis (h) Ketogenevsis
(c) Ketolysis (e/y  None of these
Theory
2 Describe the structure and function of Thyroid gland. 10
Or

Write notes on :
(a) Menstrual cycle
(b) Ornithine eycle

607558134797 1:CI27690B651 DB2F22015



WT -
R Describe the histological structure of lhver
O-
Write notes on
@) T.8. of ovary
o) S-axidation
4: Describe in detail Kreb's cyvele.
0.
Write notes on :
@) Gluconeogenesis

(b Keteolysis
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AO-—IIB—-‘JG]S
FACULTY oF SCIENCE
B.Sc. (Fourth Semester) EXAMINATION
MARCHMPRIL, 2018
{CBCS;"GGPA)
Z00LoGgYy
Paper IX

{Enducrinnlugy, Histology and Biochemistry)

(MCQ+Theory)
Time : 2,00 p.m. to 4,00 p.m.

Time—2 Hours

NB. .— (1
(11)
(D)
(1v)

Select

(1)

()

(i)

Maximum Marks—40
All questions are compulsery.

Use separate answer-sheel (OMR) for Question Mo, 1.
Draw well-labelled diagrams wherever necessary.

All questions carry equal marks,

(MCQ)

10

the correct answer from the given multiple choice

The master endocrine gland is ..................

(a)  Pituitary (b)  Thyroid

()  Adrenal (d) Islet’s of Langerhans

Hyposecretion of thyroxine in children leads to ............

(a) Goitre (b)) Cretinism

(6 Dwarfism (d)  Acromegaly

The adrenal gland is also known i

(a) Master gland (6)  Suprarenal gland

(¢ Sex gland (d)  Suproptic gland
PTO.
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( 2) AO—118—2018
(77)  Kupfler's cells in mammals are present in the ........
(a) Spleen (b)  Liver
(¢ Pancreas (d) Lung
(vi  Carpus luteum is a part of ...............
(a8l Mid brain () Mammalian lung
(¢)  Hind brain (d) Mammalian ovary
(vi)  The structural and functional unit of testis are known as
(&)  Seminiferous tubule (b)  Rate testis
(et Collecting tubule (d)  Urinifesens tubule
(vi) Kreb's cycle is also known as ...............
ta) Utric acid cycle (b)  Urea cycle
(e}  Trncarboxylic acid eycle (d) Nitric acid cycle
(vii)) The biosynthesis of glycogen from glucose is ealled ................
(a) Gluconeogenesis (B)  Glycolysis
(0  Glycogenesis (d)  Glycogenolysis
(ix)  Ornithine cycle oceurs in ................
(a) Stomach {H) Intestine
le) Testis (d) Liver
(x)

The oxidation of ketone bodies to CO,; and water is known as .......

(&) Ketogenesis (B)  Ketolysis

)
() Ketosis (d) None of these

(Theory)

Describe the structure and functions of adrenal gland.

10
Or

Hormones of adenchypophysica
¥ Ornithrine cycle.

(a)

BIAFOFSCEIGDDASCCECTIOBIARTI3IOD



WT ( 3 )

3. Describe the histological structure of intestine,

Or
(&) T.S. of testis
(b f-oxadation.
4. Describe 1n detail Glycolysis.
Or
(a) Glycogenesis

(b) Ketolysis.

AD

1182018

10

10
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() Use separate shget {DMR) ‘}‘nr Quashan Nﬂ 1 .
(1) Draw\ well\]abell"ed d.mgrhms whereter necessary

5 \\'

) Al questmns ca‘::ryz equa_l\ mﬂrkg S -:;_;\_\_‘.*
R WX

, 'L \ \ k o,

\

1. Select the mzn*e&t answar ﬁmmxth& gwen mulnple chmn:e : 10
(i) ‘Ox:yfm.l:b hurmune i5 se;:reted by\......\. i gland.

1.

(A) \Adxenal \;.-*1:._ @) “Ovary

'N g ST,
-\ .

A X

\'\ -\

(N Tﬁyrmd D) Pituitary
5 \ﬁi} Exophthalmuf gmtre‘“m caused FUE £0 wovnereneneees
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el ) chnn nf“IElj'ro1d

LTI Hy:lerfun
i {'_. 5 [‘G) H}paﬁmchnn of ~~1=’5|ras|;t.lzt_1,.1-1-«:1:;[
> ‘“'~T'-?~w‘- S SRl AR A

o, T, L E,
A G2 D) Hyperfu ction of Parathyroid
:\ -.\l\:"‘::‘\:;:‘ .ll Lh I\ :-\ .c 1““ ‘I‘IJ:“ ‘hl th y "" LI TR LR L
S ‘éxf“ﬁfuixc“HyRoﬁniman\qiﬁadmnal cortex leads to
290§ N qA) S Addison’s disease (B) Cretinism
b b Al 2 S N xe
SE 0 S8 < W(0), <Dwarfism (D)  Sterility
- I:‘\--:": o ".':E;-:' 2N ;
TS HAT G LS

" e A DT &

1':r ) = s \:‘_ :T' :_-' ';'_\

= T e S 5 .‘*- .

ST B3E99BE0S4CFCESEGAO43BB4E912FBIA

L]
L]

L

P,



( 2 ) g B~—-163—2019
(fiv) In liver, the wall of ginusoids contains npmal cells are ca]led as ...;-'. ."..‘.' &
(A Kupfler's cells (B) Pnlygunal cells S '_ R
(C) MHepatic cells M) Gluhlet’ﬂ :.-,ena Al

(v) In testis, the wall of seminiferous tubu]as is lmeﬂ by ,. ::ells ,

(A) Sortoli cells (B)  Germinal eells.

(© Both A) and B @O None-of these - R
i) Structural and functional umta 6f k:ﬂhe}' m .. ., f

(A) Nephron -:. \'-"_1;,« :‘-"(-. } Smﬂﬂﬂldﬁ 0 \)

(C) Seminiferous. i:uhu]e ' {D r‘ Grajﬁzm fﬂ]]‘.ldﬂﬂ "

(viz) Glucose 18 Etﬂredh'n the fnrm of glymgeﬂ m;. ;,"..;_'.... 5 .-,.g"

8 Pamereas '
© Kidnoy! . '_' D). _Lme,- RESCh
(wiit) Synthcam hf carbnhydr ates fmmvpm;tem anr.f fatis is s called o.ocnrrenns
A) Glzmlrm i S JB) Glyt:ogenu‘lysm

(C}‘ Glucaneuganems :“;‘ J' = ~(D “; Glymgenesm
(i:} \*ThQ trag:s\fer nf anx ﬁmnoag;mup‘fmm anﬁ amino acid to keto-acid is

'\u"’ [
._1 ) .:'-."' ‘.-.-"l__.“.-__-.- . !

".A_,-f__n e -'{f:

-L-_\.‘. i,
L \\ L\_' :_:u- o .

x-':‘-' g (A} Deaﬁna?aﬁhn L {B) * Transamination
.x- w .f;u P i_. i el Ad b __:'_.‘3 .._-_.'=_.'7.$“ h asd -
LT S0 -(G)‘-.-?;QrﬂM?‘"'EY.dﬁ:“‘;?;.a-"j.-'-‘ -_-":'{P} Uric acid cycle

.

SR @} E_iéréhgn of almnrmally mgli_'ﬁ.ﬁiuunt of ketone bodies in urine is known
l‘.\". \r; ...?I' e u‘s.‘id::‘ﬂ:;pi::hf:.-nd‘, ;.”\.1 *-\‘ \ "'; ‘\1 \-”-I
: e .' = 3."' {\ *\ .\\‘: ,‘_«2

\. 3 Y % (B:l &mly‘sis

e ~:_~ \-::.-

ﬂﬂis“ _~$ 5 M) Ketonuria

.'\lh L

i 3;-.‘ (Theory)

:f.md function of Thyroid gland. 10
Or




(a) T.S. of Liver
()  Ketogenesis.
Describe in detail glycolysis.

(@) Gluconeogenesis
%)

(
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This question paper contains 3 printed pages|
Y—163—2019
FACULTY OF SCIENCE
B.Sc. (Fourth Semester) (Backlog) EXAMINATION
OCTOBER/NOVEMBER, 2019
ZOOLOGY
Paper IX
(Endocrinology, Histology and Biochemistry)
(MCQ+Theory)

(Friday, 22-11-2019) Time : 2.00 p.m. to 4.00 p.m.

Time— Two Hours Maximum Marks—40

N.B. — (i) All questions are compulsory
(i) Use separate answer-sheet (OMR) for Question No. 1.
(i)  Draw well-labelled diagrams wherever necessary.

(tv) All questions carry equal marks.

(MCQ)
1. Select the correct answer from the given multiple choice questions : 10
(1) The chemical substance secreted by endocrine gland and released into
blood is/are :
(a) Enzymes (b) Vitamins
(¢)  Hormones (d) Bile
(ii) Pituitary gland attached to the brain by...........
(a)  Hypophysis (h) Neurohypophysis
(c) Pituitary stalk (d) Adenohypophysis
(tit) The menstrual cycle is.............
(a) Dt'n.ith_ine cyele (b) Female sexual eycle
(e)  Oestrous cycle (d) Male sexual cycle

P.T.O.
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(Lt

) v)

(i)

(vtr)

(Lx)

(x)

[ =]
.
q
)
¥

Intestine 1s characterised by
(@ Fundic gland (by Cardizc gland

() Vil ) Pyloric gland

In liver, the wall sinusoids contamns special cells are called as

(@) Hepatic cells (5) Ruffer's cells
(¢) Epithelial cells (@) Beta cells
The testis is covered by a fibrous capsule called.—

(@) Seminiferous tubules (B) Sertoli cells

(¢) Interstitial cells (d) Tunica albugines
Transamination Means...cuwe

(@ Conversion of amino acid into nucleic acid
(b) Conversion of nucleic acid into enzymes
() Conversion of amino acid into glycercl

(d) Conversion of amino acid into keta acid

The end product of glycolysis is :

(@  Pyruvic acid (p) Numeric acid
(c) Citric acid (d) Acetic acid
Deamination Means...........

(@) Removal of amino group from amino acid

) Removal of amino group from protein

(¢) Both (a) and (&) (d) None of the above

The process of formation of ketone bodies is known as........
(a) Ketolysis (b) Ketonemia

(¢) Ketogenesis (d) Ketosis
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(a)

(3 )

(Theory)

Describe the structure and functions of Thyroid gland

Or
Write notes on :

(@)  Hormones of adrenal gland.

(h) Deamination.

Describe the histelogical structure of kidney.

Or
Write notes on :
T.S of pancreas
(b) Ketolysis.
Describe in detail Kreb's cycle.
Or

Write notes on :
(a) Glycogenolysis

(b) Transamination.

Y—163—2019
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SB—135—2022
¢ SCIENCE & TECHNOLOGY

B.Sec. (Second Year) (Fourth Semester) EXAMINATION
MAY/JUNE, 2022
(New Pattern)
7O0OLOGY
Paper-1X

(Evolutionary Biology and Genetic Engineering)
Time : 2.00 p.m. to 4,30 p.m.

Maximum Marks—40

FACULTY O

(Monday, 20-06-2022)
Time— 2% Hours

NB. :— W) Attempt All questions.
Gi) Tilustrate your answer with suitable labelled diagram, wherever
necessary.

1. Describe Darwin’s theory of organic evolution. 15
Or

(@)  Describe palaeuntnlogical evidence of evolution. 8

(b)  Describe Biological species concept. 7

D Describe {ransgenests and transgenic animals. 15
Or

(@  RNA Structure. g

(h) Genetic Code. 7

10

3. Attempt any fwo of the following :
(aa) Embryological Evidence of evolution
(by ~ Mass extinction causes '
{c) DNA structure
d) Gel-Electrophore 5is.

gB—135—2022
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